Year 6 Arithmetic Homework 19th October  AMBER Due in 2nd November
	1) 17 + 48 = 
	2) 36 + 98 = 

	3) 473 + 653 = 
	4) 8374 + 362 = 

	5) 83 – 35 = 
	6) 263 – 34 = 

	7) 7384 - 232 = 
	8) 8364 - 937 = 

	9) 76 x 5 = 
	10) 17 x 4 = 

	11) 44 x 3 = 
	12) 98 x 5 = 

	13) 95 ÷ 5 = 
	14) 275 ÷ 5 = 

	15) 112 ÷4 = 
	16) 1368 ÷ 3 = 

	17) ½ of 48
	18) ½ of 46

	19) ½ of 84
	20) 1/2 of 50

	21) 50% of 16 
	22) 50% of 62 

	23) 50% of 100 
	24) 50% of 240 

	25) 28 x 10= 
	26) 92 x 100 = 

	27) 23 x 100 = 
	28) 95 x 1000 = 

	29) 45 ÷ 10 = 
	30) 273 ÷ 10 = 

	31) 892 ÷ 100 = 
	32) 7384 ÷ 1000 = 




Name:
Score: 




HONESTY:

	1) 65
	2)134

	[bookmark: _GoBack]3) 1126
	4) 8736

	5) 48
	6) 229

	7) 7152
	8) 7427



	9) 380
	10) 68

	11) 132
	12) 490

	13) 19
	14) 55

	15) 28
	16) 456



	17) 24
	18) 23

	19) 42
	20) 25

	21) 8
	22) 31

	23) 50
	24) 120



	25)280
	26) 9200

	27) 2300
	28) 95000

	29) 4.5
	30) 27.3

	31) 8.92
	32) 7.384





